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1. | Find the values of the pronumerals, giving reasons :

(@. A
B
105°
*° 120°

C D E

(b).
A
48°
XO
B C

6m Xxm

/.244 m

x|
o
3
v

J—
“ Y
\




(a). Find the size of each interior angle of a regular 15-sided polygon.
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(b). Find the number of sides in a regular polygon whose interior angles are 150°.

v

The diagonals of a rhombus are 8 cm and 6 cm long.
(a). Find the perimeter of the rhombus.
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| (b). Find the area of the rhombus.
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(a). Prove that AJKL and AMNL are congruent.

(b).  Hence, prove that L is the midpoint of M. -




ABCD is'rhombus with ZBCD = 48°. AEAB is equi/l;ﬂyal.

Find the size ofZEDA, giving reasons for your answe:
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I is the intersection point of éhe diagonals EG and FH such that I

is the mid-point of EG and ZEFH = ZFHG .
(a). Prove that AFIE and AHIG are congruent.
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Prove thaf EFGHis a parailé:lo grain.
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Find the size of ZEBC.




In the given diagram, JK =8 cm, IN=9 cm, NL =3
cm and MIN = 6 cm.

(@).  Prove that the two triangles are similar.
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(b). Find the length of MK and KL, giving reasons.
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E ABCD is a parallelogram and 4BEF and BCGH are both
‘ , squares.
ye NCA : D (a). Provethat CD =BE .
/ ‘B =

(b). Prove that BD-= EH .
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(a). Find the size of each interior angle of a regular 15-sided polygon.
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(b). Find the number of sides in a regular polygon whose interior angles are 150°.
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The diagonals of a rhombus are 8 cm and 6 cm long.
(a). Find the perimeter of the rhombus.
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(b). Fmd the area of the rhombus.
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In the given diagram, JK = 8 cm, IN=9 cm, NL =3
cm and MN = 6 cm.
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(a).  Prove that the two friangles are similar.
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ABCD is thombus with ZBCD =48° . AEAB is equiatzal,
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(b).  Prove that EFGH is a parallelogram. ' \ (sides of squae)
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Find the size of ZEBC.
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